Quizzes For Physics – Unit 1
August 24, 2006

No quiz
August 25, 2006

1.  What is the title of the essay you read last night? [Basic Physics]
2.  What is the name of the author? [Richard Feynman]
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August 30, 2006

1.  In physics, the shortest "distance" between two points is usually described as what? [displacement]
2.  A triangle that appears in physics equations denotes what? [change]
3.  What is the purpose of subscripts associated with variables in physics equations? [labels]
4.  Write delta-x in a different format. [x2-x1]
5.  What is the equation we learned yesterday which shows the relationship between velocity, length, and time? [v=Δx/Δt]
6.  What is the equation we learned to calculate and the average velocity of several velocities? [v=(v1+v2)/2
7.  In this preceding equation, what is different about the velocities on each side of the equal sign? [left side is average; right side are instantaneous]
8.  Solve the following problem, showing equation, all work, answer and units. (3 pts)

A car travels 1.000 x 103 m in 5.00 seconds.  What is its average velocity?
[v=Δx/Δt = 1.000 x 103 m / 5.00 s = 2.00 x 102 m/s ]
August 31, 2006

1.  At the top of Crow Hill, I put on some special high-tech very-low friction roller blades and started down the hill.   Unfortunately, I forgot to ask how to slow down and stop with these roller blades.  When I reached the bottom of the hill, my speed was a blinding 236 m/s (rapidly approaching the world land speed record).  It took me a mere 40.8 seconds to travel the distance (I had meticulously clocked on my trusty stopwatch even while traveling at such a great speed).  What was my acceleration in m/s2?
a = Δv/Δt = (236 m/s – 0 m/s)/ 40.8 s = 5.78m/s2
2.  Using the above information, how far is it from the top of Crow Hill to the bottom? Express your answer in meters.

Δx = ½ at2 + v1t = ½ * 5.78 m/s2*(40.8s)2 + 0 m/s * 40.8s = 4.81 x 103 m
3.  Upon reaching the bottom of Crow Hill and failing to make the sharp right-hand turn into Bailey, I smashed into Sully’s.  My body momentarily merged with the wall of the building before it broke through and came to a stop all within 0.0200 seconds.  What was my acceleration?

a = Δv/Δt = (0 m/s - 236 m/s)/ 0.0200 s = -1.18 x 104 m/s2
4.  Using the above information, how far into Sully’s did I travel before coming to rest?

Δx = ½ at2 + v1t = ½ * -1.18 x 104 m/s2*(0.0200s)2 + 236 m/s * 0.0200 s = 2.36 m

September 1, 2006

Finish the following equations:
1.  v = Δx/Δt
2.  v = (v1+v2)/2
3.  a = Δv/Δt
4.  v2 = at + v1
5.  Δx = ½ at2 + v1t
September 4, 2006
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50m

1.  What is the acceleration of the dropped ball?

9.8 m/s2
2.  What is its velocity at the bottom of the cliff?

v2 = at + v1 = 9.8 m/s2 * 3.2s + 0 m/s = 32 m/s

3.  How long (time) does it take to fall to the bottom of the cliff?

Δx = ½ at2 + v1t
50m = ½ * 9.8 m/s2 * t2 + 0m/s * t

50m / 4.9 m/s2 = t2
3.2s = t

4.  What is its average velocity?

v = (v1+v2)/2 = (0m/s + 32 m/s)/2 = 16 m/s

5.  How fast must it be thrown from the bottom in order to just reach the top of the cliff?

32 m/s – same as its velocity at the bottom, just in the opposite direction
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